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wo ¢ Eentral bank need not worry about the

output gap, which isiindeed hard to measure
since potential-outpumoeves-around all the time:

wthe change in inflation is a sufficient
indicator . . for deciding when interest rates
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Alberto Alesina Olivier BlanchardlordiGali, FrancescGiavazzi
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Efekty Il rundy: figura retoryczna?

W ana cattinahahawviar-entild 'dd to inﬂationary
pressures via broadly bass@condround effects

wBroadly basedecondround effectsstemming
from wage setting behavior must be avoided

wRisk of upward shocks in inflation leading to a
wage -price spiral

ECB Monthly BuIIet8



